
安 裝 說 明 書
Installation Guide

Contents 內含配件

SUBARU LEGACY 5th BM/BR 2009-2013

TEL: +886 3 5370822   FAX: +886 3 5373027　
E-MAIL: info@hardrace.com   WEBSITE: WWW.HARDRACE.COM  

VEHICLE APPLICATIONS
適用車型 PART NO. 7858

1. Front lower brace 前下拉桿 (R/L) 2PCS

2. Bracket 對鎖支架 (R/L) 2PCS

3. Bolt 螺絲 (M8x1.25x25) 2PCS、(M12x1.25x25) 2PCS

4. Spring washer 彈簧華司  (M8) 2PCS、(M12) 2PCS

5. Washer 華司  (M8) 2PCS、(M12) 2PCS

※ This part is exclusive for turbo version.
     注意：此為渦輪版本車型適用

Fix point of main frame
車身固定位置

三角架、螺絲位置
Fix point of front lower arm

前橫樑固定位置
Fix point of front crossmember

Install position of brackets 對鎖支架安裝位置 Install position of main frame 車體鎖點位置

Figure of completion 安裝完成圖Install position of front lower arm 三角架前鎖點位置


